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FEATT T TRATHTRIOT ARpa o |

SRl W Gad T8 §, 98l I dehd # &1 <RI |

Answer the questions in Sanskritonly unless stated otherwise.

FRIT Grhada™ STRYRASGIIT Td SRg=ar |
| IR AT & T3 ITIRYRAST H ford |

Answers should be written only in the separately provided answer-book

IR JeTUS T@R: GUer: AN |
39 YIS H IR WS © |

There are four sections in this question paper.

JUfSareT—argal=y Qrafearer sradwr)

(Reading Comprehension)

R A DRI (TR H e-Ad Bd)
(Sanskrit writing Skill)

FIIGFTATHRON (ST  ATHRUN)
(Applied Grammer)

RT (i) ufSaier —aarmy (AfodrsT smad)
AT (i) AT WG B duRad: (AH e Alecd TRed)
Part () Reading Comprehension

(i) General Introduction to Sanskrit Literature

10 SAFT:

15 3l
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qus: (h)
Section (A)
Ifsarer — @digq

Unseen Reading Comprehension

10

eiferRad Tenel ufdar gwmam SR W¥hd foad |
frafaRaa Tene & tgHR Il @ IR Ad&ha A faRau |

Read the following passage and answer the questions in Sanskrit.

QR HiRAG Teb: dlel: JeUTH Ik S| & I AUSq dq [awRid | 3 T
FEUIfSH: T SUsdd W1| Udhal Aeren-uifsa: 9 fereaa Fereeq A4t =
SAITIG—ITq 318¥ Tad: 1A | 31 Ud |d AM SUSHIT | 99 9 e iR | |wifdy
6 I 3 R 99 AR d9e: @ g | 9F BIeed Afgdn e Sio
RIT | F Baalla I3 ReId: | IFRR 4: edq Iq IR Remgvs ge: fAfea:
A T3 T o | & afval gesfa—srd! g6 g’ i & Afffqar sfa?
8w aged, ITd: U g ufdfes gevermume M, 7 PIsfU s Fidr | qead: e
|- AfTI A YENI: GRIGTHCH AT YTITOTRIATIE T T AR qa&l I
T UeH 79 AR A 7 A 9o s e 9 g faened d/nTeed | STem
eI 3T qTet: W8T JATERUT: JIUGE: VI | o d ARG o e SfT |

YHUQH Ixd
Uh 9¢ H Sax difuig |

Answer in one word. axd=2
() dred ARt & gre:?

() DA AR Sl B RAT W2

(i) T B STAI?

(iv) W JATHROT: F: AP

gufar@ls IR

yufarr 4 IR <Y |

Answer in one sentence. 1x2=2
() SrEifed: qren: fhHq SraRIe?

Gy g P AT S




L. Ffaden Savd 4
Frdergar SR difvig
Answer as directed.
(@) g=R I’ e foRivorag fe
() {4 A S[UBHRT §IF BgUS [hH?
(i) A=l TR fdAMUS b UgHTH?
(v) OfT: T HeUllsH: a9 SUSHld W ' o TR 3 HaHus e UYa?
IV. 3 Tenierd gyfad s feraa| 2
39 ey @& fau wyfaa e faRag)
Please give a suitable title to this paragraph.
Yrs o’
Section &Bii
H¥Hdd A DRI 15
Sanskrit Writing Skill
2. A 9uia: A-gR Fraafa | gaa: fam arfier wdaam saarg: sl |
gl ahadd qgius yee e gfa faRad aiRv ual dsopuma:
Reaeari R ssryRasi ud g fa@d |
AT YU@ 93 TR A Bd 2| AU 7 arfier ofem § s el 4
I<iivl gU 2 | udlEmr 9 Awedr & fov 991E <1 @ fav i &1 faw 59 u3
A Raaea i &1 Jsoar 4 fay 1Y ygl 9 R U7 3l SR YRADT H 4
ferRarg |
You are Pranava from Chennai. Your friend Vageesh has succeded in the Board
Examination scoring very good marks. Fill in the blanks in the following letter written
to your friend congratulating him on his success in the examination. You can take the
help of words given in the box and rewrite the letter again.
14 % 10=5
L6 TR
LES1C
ORT (R1) e
1) W




T I TG | S TA B RIETIEHCTT T 8.00 TATE GTTDHET:
(V) teereeeeeeeeee e eeseereesesessaees FHGEI: | HIAT SUSRIC gic AYHA A9 URIeT URoMH:
(42 JT | AT UG IH Useedicl: YRS (VD) v g

SR | W AT T ST ST 1R | WA A ad T g 6
S| LU 5 e 11 W T O FHoR: URSH: Fhl: ST | AT 1 hdetq
SR G I s oo s Rk 1 A A1) WO IR | & IR TS |
3EH T ST—ABATR T BTGB (1X) oo I | IS qq BT ATSTAT
sfd foreg |

HTG—(UgeRorl: YoTHT: |

H o[ s

fifeq: arfier, I=ga;, @@, g,
LT, YOI, A, TETOH ORIETaROTH:

H eGSRy daErRAd dagadid R g9 faedl| 15 %10 =5
ool H Ay wral &) Werdl 4 o AT & 3IAA &I gof
o g fafag |

Complete the short story with the words given in the box below and rewrite the same.

Uhal HIvAT ATH: STt 3MET (A8 ey ga: dd: UR¥AET a4 (i) I

qa: o AT 99 (i) R el @ vl Y9 gewe: 31ad | YaRET
RIS HURTST: Forifla: FuikarR: aF dugel] gdr AFATRI: (iii)

Jagd (AT (iv) 99 qUSAT HHE: HI? TG UEH 3] A
(v) | I AT TCA™: 31U 7 (vi) | Udsgcdl D
JUSaH~: HQUH Ifdad AITH (vii) ded=<R d JedT: HUI:
(viii) I ggr: 3rae | aad: faeafia: aF e — fausre
(ix) RV | 3 99 @RE RRUIas quaRIoRg |HIY T : |

dal |d HUEAr Hgar e UG JEldl Seudd | fRRvaed fE=Tarem: s

(%) T geiaf<T w1

LEIT
qugell, HUAN, N=8d, oM &,

AT, ST, 999, fameafd, g




sefaRgafasdy e faw siffpe ysaareafay s

HEpdd fafea!

fr=tfeaRea fawal o4 9 o vy w uig aredl &1 dv@a o

P s fafEu)

1x5=5

Write a passage of five sentences in Sanskrit on any one of the following topics.

() faenfad: ugp |
() emd dgIH T e

(i) foRmeIRT FERT: & HeofR |

usg: T’
Section C

UG FAATHRIN
IUYdd ATHRYT

Applied Grammar

Jeifafady aRly Y@ifeauay afafassd fod|
fr=ifafga areal o Y@fga usi 4 wftg=sg i

Disjoin Sandhis in the bold typed words in the following sentences.

() |oHg SEfd qrgad |

() ShacErensfy o faaii: |

(i) A foAd|

(v) I HEUQOr: 3R |

(v) dead T s

vi) fEar= = "xud 9 fhuy; |

IeifaRady arRlY ¥efausHl faus: dw |
fr=ifaRaa areal & wefeuel @ faus faRag|

Expound the compounds in bold words in the following sentences.

() IMBfAHID: PHAH |

30

1x6=6

1x6=6




() ITHT IJBIRA ST |
(i) T TATEATTH Ul |
(v) AT ST |

v) gufedar gulka & que: |
(vi) GRRIEAT IroTered: |

JefefEady arRly soariauaiaucd 9 Areiidar Reaea T qrad |

4 fore gy 9l § diosd & =id yafa & g1 Fifds gy a1 s
PR @rell I 9y |

Rewrite the following sentences by adding suffixes to the roots and words

given in the brackets. 1x8 =8
i fs s 7 (™ + doq)

(i) SR AN (STHIE) STBIH |

(i) oMk R (JHTHHEY)———— fagmofer |

vy B 9 (&1 + o) 7 ¥aq fossfa|

) oF (9 + F@N) —————— BT |

(vi) I M ———— RIGHET ¥afd | (RAS + 59

(vi)) ARSI W —————— dq | (e + Tq)

(viil) $&9 IR IAH ———— NI | (FTEE+3®R)

Jefafady ardy o fbamaeal: sfafa: fhaam |
JenferlRaa aren § odf R fhar @1 afafa sfe |

Please write the suitable verb according to the subject or vice versa
in the following sentences. 1x5=5

() omd! fElE: ol /e |
G) T R ercfig o/ o= |
(i) <At TNV YEINT /YA |




(v) SMd IER! AN CI /AN |
(v) IO 3 Aoerd wRef / HiRef |

3171 (Or)

Igicdy IRy Hooura: faRivmer™ faq@r faesus: |g e
gifarRaa aredl o faQivor ug AsoET € Bic &) fausy ugl
3 G WISy

Match the adjectives with nouns in the following sentences.
(The adjective words have been given in the box)

H — FqA: A |

) ol e T e -

(i) Bfegr: |

" — s T

V) — T T IR |
LESL

YT, GRICAT, T, JATTDTHT:, ST-fH:

IifrRady arRY HIosriavey SuucIHfa ygsa
Reaeerrgfcd: foaan |

frafafad arel 4 dIod & =l d Iuue faufa &1 yanay
Raa i &1 gid aifog

Fill in the blanks using appropriate case-endings with the words given

in the brackets. 1x5 =5
o N — AR guet: | (Rigra)

i) —— A ST YTl TSI | ()

(i) ded HAd: ———— (F=TmT)

(v) T W o= a9 fossfa | ([Ref)

V) —— T T (99)




10.

IL

II1.

guvs: ‘¥ (Section D)

HAT1: (1) Part -1
qfSaier aqied
gfSdarer—sradie

Reading Comprehension

JeiferRad wenel ufesdr d¥gdd U= Saxd |
4 e ey d ugdR W¥hd H YEl B IR QI |

Read the following prose passage and answer the questions in Sanskrit. 5

3HT IERTH SN | 3199 TT gedR gIaerg 9y fav=ich | 3199 Tq BRUH
NI A | TY G SFIHRA SN ol a9 gd g
FIGT: | 3T U Gl SN | TH TF A JafT IRafe: IR | daT
TI U9 giva=: | TRET 39 UG i | 999 UV ool ARET= | Jor:
T fagdwm |

THYST SR 1hx2=1
TH Ieg H SN T |
Answer in one word.

() A TS e & ARG

() gIw afteT @ afa?
guiaras I<Rd | 1x2=2
yofqred F SR < |

Answer in a complete sentence.
I IR B Ay fqafaa?

AT IR Vax 2 =1
Frdergar SR difay |

Do as directed

() ftea’ @Y oF b us ugHH?

() YOOI AR 3 fdb faRIUTUEH?




11.

IL

II1.

(iiy JOFG: UW: fIRA9M fF T HITHUS HEH UIHH?
(v) ERT fHaTaed wus fhe?

Igifafad Arcaie ufdwr gy Saxd
frfafad iy 1 yed) Ul @ SR QIS |

Read the following drama passage and answer the questions.

(qa: ufdefa @recl fague: agRemwr ad =)

Ix2=2

e (A" Freawn) 91 ARG @ A FRE: JOTRY Hiegdrd AR |

fague: e o™l Wad: JfcHE Agq | g f[AusfaqaR ageueTa

SOIHTIRETT 9 ¥ad: OISy TREwTa: |

qeEI: F Wedg el Brad genentd | PURHsRY J YOUR AR SeUR A

gfTfT |

THUSH $IRd
Ud U H S} ISy |

Answer in one word.

() AFRPEET B IRT?

() PR YOI FHT QIOUR A7

gufar@ls IR |
R I H G&pd 4 SR IR |
Answer in one sentence in Sanskrit.

qroea fhfa sy sRema:?

AT TR

[RERUE GRS R 1Y

Do as directed.

() IEUIAISE qRewe:, o e faervoTaeH?
() HOE 3O faRaRie ug feee

(i) o OIS GREWT: 813 Wad: \AdAHUE B TR ?

(iv) SIFArNA Sy fhaTaew dgue fbH?

ax 2 =1

Ix1=1

12
12
1x1=1
1x1=1




12

IL

IIL.

13.

JeifaRad el ufewr g9 S<d
frrafafRaa ga &1 ged) gl @ SR v

Read the following verse and answer the questions.

Rrenm &3 resfa sravdarcgagyen Fual~a ureur: |
O SeRATRIA 9 PR gd 9 &< 9 ¥ad fassfa| |
UhUQd Savd

Th Ieq H IR <IRT |

Answer in one word.

Q) gIEqer & Foar?
() HTATIAT &d BT TEh?

quiqreRa S<Ra

R gred ¥ SR I |

Answer in one sentence in Sanskrit.

aqq o o fasfa?

LB AL I

Fdegar Sav difeg

Answer as directed

() Od STererd’ o & faRoreR?

() foeTe g & ueHa uygar?

iy fossfor sfa fhamuewr & fermues?

(v) gagHer: FUdf uredr: o3 dqua fhH?
Jgied Tollbgd dfeswr genfrdeny Sava

I fad q1 Tl I UgH MR SR dIIY |
Read the following two verses and answer as directed.
3eTAd el : I dhaicd UGl |

amfEreaserar g AT AS TR | |

I TAIHE $: AQHUR: o@d: d|

ax2 =1

1x2=2

Vax 4 =2

1+1=2

10




IL

14.

IL

faereren Wl THgERIRE AT |
A 9 9 gRu< I8 SRAY gelvH ||

g vl & o9 ufa swerfa? 1+1=2
A ySHERE gguEr=ad Gar faed

Jd® A & foy f&d wu i waref 4 9 gg d9Eef 9w eve fafag)

Three explanations are given for each line. Select the correct one and write.

Skissd wrd gy 9w fAgiaa
HArqred:

(@) forel o seeavf oiqeaT |

(@) Gl 8™ SIS SUTRI §H o |
() SINRUMT gSedwq~ I AcedH |
fregganfifT: gage: o e quiag Tvad |
(@) ST R S (BA T IToRIf |

(@) fE: S @ed 9% e | 242 =4
(1) TEORREAr ARE: S IASTEH ST T ORI |

3141 (Or)
TR AP U< HiarRd Asoueduq: YRiR@Er foed
I @A U vl & warRl & wsoues sl 9 yul oxa fafEg

Complete the central idea of the given verse with the words given in the box and
rewrite the same.

IFRCTIERT I 2 7 ArMrafdeft san |
Tl f2 I ORI FAseRiar: feRoiftaars; | |

fRHATCR: TR (i) ---mmememmmomv T IR | TF TR () <wonoeoeeees -
a1 R (i) oo R R P e
TP AN (7) oo T fAget: (Vi) -mmemmeeeee TOAT (Vi) —-mmmmeemmmen oy
(Vi) ------mmmee- foRifea: wafer |

Hoo T

™~ o~
leHd, TeHleldR, Sdlad: ¢RUd,

11




15.

16.

17.

JENfARaaedpgas yadrad Raaveqfd s g foaea —
fFr=fafaa Q1 eaisl & fay g sgal § Raawl a1 gfd

X g fafag—

Fill in the blanks in the prose order rendering of the following two verses

and re-write the same. x4 =2

(1) aEg waifdr JaraTEAAuEid |
Ay AT aat 9 fasred ||

I=IT:
T g R ST T . WY
el dd: ]%WI
() fdw fagefiwata gge: wiar wa=<ams: | Vaxd =2
ud & 9 Iq oAU Hd T e | |
g — MR ——————— fgEdmatg ———— I
vafsg, o &9 9 ————— o At A aq ————— — R |

wWHgA e YS<diad i diefe "I dedr Havl forad |
< Wl o feu wu fA=fafaa areal &1 aefe gaie &) sa 9 fafay |

Rewrite the following sentences as per their sequential order.

G Skrsd SR () oerg g g |

() T TG gOW: qRIe (=) Tg TRy gerve |

(i) SIFIIAH SUIHHHA (1) QEA el IO HHOT |

Gv) @ 9 9 IRy< (&) U R AEwd | Ix4=4

JefaRaauefaay eaEruaH yagHary 3l faar fama —
eifaflaa dfeaal 9 [ceRr Ul &1 U9F @ IJAR Y& A gadx
ferfag

Select and write the appropriate meaning of the bold words as per reference to their
context.

12




18.

() O<d g T URIT Ig IRAY oA |
(@) Farer (@) aRk=m (1) 7

() IR Il gEaf |
(@) Ao (@) STed (1) a0

(i) ded gaeHGT |

(@) gEm (@) T (1) wgiaq
(iv) STgEI Urdetld: |

() areiife: (@) uRfe: () wdges 1x4=4

Yus Y’ Section D
AT II Part 11
AT GXpddieauRay:
M= Ahd Al uR<d
General Sanskrit Literature

Feiferfaard SdT qe—arad—gdi genfde ami fored |
fFr=ifafaa ®feal @ Qw, &1a vd il &1 Fdwgar 9/ falay )

Write the names of the place, date and works of the following poets as directed.
hdY:

1)  dwHcS
() W QT:
(i) SRIve:
i Y=

() aNEfARR: PIeT:
(i) SffFgHIGT:
G  9RfE:

i) g

(i) =T fasoperAt PIfICHT BT 34344=10

(v) Difce:

13




Jqar (OR)

(31) orer WSLWRIT yexivre: Raceryfd @od |

N oo § R g vl @ Raw ol A qff il 5

Fill in the blanks with the words given in the box below -

() BRIGHRRIA ——— PR | Y AT WGgIH — HeThIedq ———— |

(i) HRHIAR W A | Ay v W ———— AR |

(i) T P ———— qefl| P ———— T T W Ve |

(ivy I ——— Yer @] —————— FIHE VI |

(v) TP T T ————— ARd | Aedw aeT ————— TRy |
HIGHT

AIChY, YSIR:, 7d, A<, ATEAT]

@) wEpadcHw Usa faRivdar Hepd« fered |
AEha-icd o uia faRivand depa 4 fefeEy |

Write five characteristics of Sanskrit Drama in Sanskrit. 5

14




TSI I H.—1
%9 (CORE)
SERIER]
el — graeil XII

Jafer: sR=an Pls H. 322
qurigT: 100
Time : 3 Hours Maximum Marks : 100
HUIE: | St YIIYHIX: I fRra—a=afoT ag- | g
1.3 | degdE— ferereiv: Q) o Ya 2
URIEAIH ThUe IR () @M )
(iii) fRreRgTs 7
(iv) duCT: Y
El T — TR () SIS aTer: 1
TRIEfUr quiaTeRd ITRY faermeraT MRTesq
At = e
R gfr sifeeaad |
G o g ufafed gewem— 1
a9 g fET S | 2
| HIf¥pawadiet  SAfcTeTe:
qRIEToT
T dba<adrer | () faRmore=y ) g 1
(i) HIUGTITH () ad 1
(iii) faAmaT=™ HEGIEL 1
(iv) G (iv) 9TTH 1 4
3 NI CA AR SIRKISRe () sereler dTen
Jrerdr
JRITAT o fems
3ferdr
SUqa: 2 2
aferar
forafa sraq 10

L5




LCLSHENC
ATNHGHTAH
SRAT oS HT: YT AT | ForH G TRt o2 wooqurer: Wear] FRiedn fafi=Rereer == gich:

FRT | g9 Reaeem i |+ | IRl Raaergfiad ol (14) 318 FeiRa: |

PHIE: BIAUL| YETYDIN: SRIHNES SN Ag- | IAg-
2. TR RecRergf: N RESE 7 2
FTAIRE— | iyaTR&HRIA (i) amfrer v
PHIYURIETOTH (iii) TR 7

(1v) 9vIq: %)
) wemrem | v
(vi) fafee: Ya
fawgaeg— Recreryf: (vii) 3T Ya
FIRTURIETOTH farvavg— (viil) T 7
T (ix) TT: 7 3
x) IO 15
5
3. ARHAT U AGHATAT ReRATYfcl: JUTErT |
(ufergRadRayfdad 3wk (12) 3rg: MEiR: |
SAAREET | R (i) ST va
CICRRENGINA (i) UG 1
TITIRIETOTH (i) BT Ya
(iv) et Ya
W) qIITH 15
(vi) aXH 2
(vii) fa=reafa Ya
(Vi) STTer Ya
(ix) &fq 7
(x) Rd=dAT Vs 5
4. HAMN T IR e U=EIaT™ SE-T | S/aeydd arai-rHior | 5

16



qug: Tq°

ATH L ITATPROTH
IRA] WUS AR qeai ATTSTRGYATT: IAUfEa: |
I IR UreAYFISq Ffaser fgda: W R

PATE: | Se¥IH YITYPHIR: U fRTa—S<RIfoT Ig— | Ig-
5 | amRy T NITHE: ) T + 3rq 1
e g— TJATERIGTHT (i) STaf-+3rmer 41 i+ s
ENGRE affeese: (iii) 3% + = 1
(iv) FF + SUdT:
(v) a9 + A 1
i) 769 + Ty 1
6
6. IRy FHEI— | ARG () e o 1
ueH fare: fawre: arvi: () 3= T AR =
T FHIER:
(iii) TRITT IAMRIHRI 1
(iv) STa: O v o 1
(v) T AR 1
(vi) TS e 1
6
7. IRy FHa<— | Ugpa—Il () T 1
AGAIAH | A ar’— | () SgH 1
TIRTOETH | FedigaR Raa— | (i) go=
TRITYfe: (iv) << 1
(v) Y 1
(vi) TRASH: 1
(i) T cRRTat 1
(viii) HTERIHH 1
8

17




BEAE YEYBIR: I fAra—s=ifor Ig— | IF-
ugar:|  fawmT
HfhaTae— | TRy () o 1
arfeafa— Y& lhare— (i) ST 1
ToeroT SERE! (i) gl 1
RRATTY(: (iv) 3T 1
(v) RS 1
3reqdr or

farergoT— BEVLIRE () SNCDHH: 1
T - faRyorg— (i) gurH 1
RIEU EREICT|] (i)  offerIfHa: 1
YRR (iv) ST 1
(v) uRrEE 1

5
SUUGId— | PISH Ty () TEsraTHq 1
TIT— YU favfad— (i) ORTE: 1
URIETOTH PRI EI| (i) =TT 1
Reaeermyfd: (v) faefd 1
(v) A9 1

5

30

18




s ‘o’

gfearer—sadie
HIT: 1
HATE: REAOL| YTTYHR: nfera—s<axafor Ig— | 3Ig-
|gar: | fawmT:
10. ufdarene— |31 SffdeEeR (@) 9 Ya
e qRIeToTq THIe i) deT 7 1
8N
g ofEgR I: IR gIeaRR] 9y 1 1
quigrRE | oAt
I dd— A6) uggue— | () STEREH Vs
TRINTOIETTH T } 1
(i) foRmoMER | G) YOUH Vs
() wIERM | () GO &d 1
REIERIUE }
(@) eI | (i) T 1
11. gfgaereaie— |31 Sifdegay: | @) TS 1%
FRTEoTH THYSH SoRA| (i) PRAT Va 1
ST
3. yofareRe ARG TgeTeT—
Siskil TER RATIRERT:
39 Aoiraisy gRegwra: | 1 1
AT Phaa— W faemuue— | @) iR, e 1%
TATTRIETTH EERE! i) o= gfy } 1
G) faerue— 1
ERRE
T () FaIWRRI | () Ooeas & 1
LA | (i) 37eq ]
()  FYUGTITH 1 2
5

19




HATE: I YEYHIE: JrfEa—safor Ig— | Ig-
12. gfSdqu=Ie— . JfdergER: | () ureun: Vs
GIETIRIETOH ThHUH IR | (i) e 7 1
BENE
g g gd @ &< 9 Had fossfa
PUBIGOE
SiRe 1 1
AT — 3. () faemome— | (i) STl =T v
T T i) g 1
(i) gatgUe— Y
I
T. (1) faamue—  |@) “Teofa 1
ERRk RCIELIE
(i) PYICTITH 1 2
5
13, JIga— | 1. TR () TSATT—TT: 1
DEDERCELEE SICEaS I 5 faweHi—crgd: 1 2
REaIeToT ARG
2. & HAUIA G) =roex: (@) 1
& DHAANT faequeny (ufd) 1 2
14, Ararefa— PESL B I 2
RIETIH NECIEIVEREE | n T 2 4
aterar
ATaTefaTe— PSS I () SdE®: 7
TRIETUTH BEVCIENELE i) e 7
YRUTH (iii) TEHTTIRT 1%
(Rerrermyfe:) (iv) faTg 7!
V) TR Z
(vi) gead Ya
(vii) T )
(vii)) PoTg: Vs 4

20




HUTE:| SR TEIIBR: anfra—saRifr ag— | org-

15. I — Reazer— a1 () warfor 7
PRLERIE gfchmee (i) UL v
(iit) THTTH 1y

(iv)T %) 2
A ge: 7!
(i) 3MmU<: 1
(iii) I 7!

(v) T %) 2
16. AdEarR— | IRl 0 — 4= 1
GATSTAURIETOH | ShHATTHR (i — T 1
RBINEE| (i) — & 1

vy > 9 1 4
17. TAETIIRA— | 3y wrearely Q) = 1
SDEDEE NI (i) STeid 1
EREE (i) FEq 1

(iv) diEH 1 4
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Yrs o’

HIT: 2
A Gepd e uRea: (10
HATE RLAE| YTAYHIR: I fErag—sawfor Ag— | Ig-
18. HERAATed—| Hael qu—dblei— | I (1) Wi Ir: 1
Y TR | G Sl (i) YSAYRH 1 3
(i) BFHYNH 1
B (1) §.9—agd Trre 1
(i) TSST Irdrear 1 3
(i) TeMdT Tamed| 1
Fir: (1) T 1
(i) ga dfear 1 4
(i) ToIT=H 1
(iv) aﬁ%m%m\ 1
arerdr 10
HXpadlieed | o weourl Uexi— | (1) U= 1%
Y IRIevH 7 Raeer— | (i) GUSHTH )
gfciAme (i) 4 7
iv) SR Z)
v) faod Z)
(vi) STRTRIBT 1%
(vii) & Vs
(vili) TP Vs
(ix) ST Vs
(x) =T %) 5
AXHadfeed | d Hepd-edH dTchi—
SECIC IR R I R (i) ST W awan
G H4f | 1
(i) PAFTH URIg TRIOTH
a1 waf | 1
(i) FTCHR R Al
Hafer | ot d 1 5
WRAGTagH
(v) “gATH: U= I
Haf=d | 1
(v) HUR: 4R HHUL a
I: T | 1 10
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